Car Stop Adafruit Trinket MO Version

Assembly

Some Wires, Cables and Associated
Wire Clamps are Not Shown

Adafruit
Trinket MO
Microcontroller
with 3-Color (RGB)

Dotstar
120 VAC to LED
5VDC USB Notch Wood so that the
Adapter Trinket MO fits into notch — to

and Extension Cord
Mounted on Back

protect it in case the Pole falls
over

Unless Otherwise Specified:

All wood pieces are #3
High Quality 50 mm
2x4 Pine Boards (2inch) 1092 mm
(No Twists, Wood (43 inches)
Bows, or Knots) Screw

Actual Cross Section
Dimensions of the
2x4 Boards are
38 mm (1.5 inches) x 89 mm (3.5 inches)

Board /'

19 mm (0.75 inch) Thick x
76 mm (3 inches) x 152 mm (6 inches)
(Do Not Glue in Place)

Paul Romsky
10 MAY 2020
Sheet 1 of 5

Leave some slack
in wires for up/down
adjustment of Board

HC-SR04 Overall
Ultrasonic Height
Transponder 1194 mm
Mounted in (47 Inches)
Center of
Board

}

Mount Board
so that Transponder

Adjust Up/Down is at Average
29 mm As Needed Bumper Height
(1.125 inches) of Vehicles
[2 Places]
1.8 meter
(6 foot) 305 mm
Extension Cord (12 inches)
\ L #8 64 mm (2.5 inch) Wood Screws (2) and
b gt?:; Wood Glue [2 Places]
#8 76 mm (3 inch) Wood Screws (2) and
305 mm Wood Glue
NOTES: (12 inches) #8 64 mm (2.5 inch) Wood Screws (2) and Wood Glue

1. All Dimensions are +/- 3mm (0.125 inches)

Copyright (c) Paul Romsky 2020-2021 All rights reserved



Car Stop Adafruit Trinket MO Version

Paul Romsky

10 MAY 2020
Schematic Sheet 2 of 5
w1
NOTE: A SCHEMATIC “IS NOT”
EXTENSION CORD
1829 mm (6 FOOT) A WIRING DIAGRAM, THEREFORE
| Ao 1 p1 PINS ON CONNECTORS MAY BE SHOWN
EROM P1 ! I Pl OUT OF ORDER TO SIMPLIFY THE
' V|V P———— DRAWING. SEE A3-P1 FOR EXAMPLE.
120 VAC 120VAC_H (BLK) 1 o
60 HZ H ™ 120VAC_N (WHT) | SRl svoe |PP
N = 7 NI|N N | N Fe-—
15 AMP ! POWER ¢ g
RECEPTICAL E M| ADAPTER
F M
W2
USB DATA/POWER
GND (VDO) CABLE 305 mm (12INCH) (RED)
1
DATAN : e WIRE ENDS AND LEADS
DATAP : 26 AWG (YEL) DIRECTLY TO PINS
VCC (5VDC) . 26 AWG (BLK)
1
Al b1 A3
VCC (5V) 26 AWG (WHT) TRANPONDER
USB O a e \/CC HC-SR04 ELEMENTS
G TRINKETMO ~ Do GND (OV) 26 AWG (WHT)\/ « GND | ULTRASONIC POINTING
P|P|D+ ATSAMD21E18 _o le ECHO (5V) PARKING SPOT
NN |[D- A3-RA IN GARAGE
G| G|eND U1 M
M F RESET ASRB A3-RA, A3-RB
DOTSTAR 10"(9 e
3'CL(EEOR WIRE ENDS SOLDERED 10%
o DIRECTLY TO PIN HOLES 0.25W
VOLTAGE DIVIDER:

(REDUCES SIGNAL VOTAGE FROM

5V TO 2.5V TO PROTECT Al-1~ INPUT)
A3-RA AND A3-RB COME WITH THE A3 ASSEMBLY.

Copyright (c) Paul Romsky 2020-2021 All rights reserved



Car Stop Adafruit Trinket MO Version
Details
Trinket MO (A1) Wire Connections

GREEN LED

HOT (POWER ON)

GLUE.
CAN BE PULLED
OFF IN FUTURE

USB
l[; 'I!EE\CI?ESD] DATA/POWER
CABLE

INSURE
WIRES AND HOT
GLUE DO NOT
BLOCK THE
DOTSTAR 3-COLOR RED LED
LED (IN THE CAR STOP APPLICATION,
THIS LED WILL LIGHT IF AN ERROR
OCCURRED)
T WIRES
o< TO HC-SR04
9  TRANSPONDER (A3)

OHO3
4399141

Copyright (c) Paul Romsky 2020-2021 All rights reserved

Paul Romsky
10 MAY 2020
Sheet 3 of 5



. . . Paul Romsky
Car Stop Adafruit Trinket MO Version 10 MAY 2020

Details Sheet 4 of 5
HC-SRO04 5V Ultrasonic Transponder (A3) Wire Connections

0}
R o K AN
LA R A

SOLDER / \ HOT GLUE.
WIRES AND RESISTOR CAN BE PULLED

LEADS TO OFF IN FUTURE
CONNECTOR IF NEEDED.
PINS  A3RA
A3-RB
WIRES HEAT
FROM / SHRINK
TRINKET MO LA | SOLDER TUBING
(TWIST TOGETHER S3 8 2 WIRE [5 PLACES]
ABOUTLTWISTPERINCH O § I & TO
BACK TO TRINKET MO (A1) 9 RESISTOR
x LEADS

NOTE: MARK THE TRINKET MO END OF
THE WIRES WITH TAPE LABELED
WITH THE SIGNAL NAMES.

Copyright (c) Paul Romsky 2020-2021 All rights reserved



Car Stop Adafruit Trinket MO Version Paul Romsky

10 MAY 2020
Parts List Sheet 5 of 5
MANUFACTURER SUPPLIER PRICE (USD)
REF --—————————— | - e
ITEM DESG NAME PART NUMBER NAME PART NUMBER QTY UM UNIT TOTAL DESCRIPTION

1 Al ADAFRUIT 3500 DIGIKEY 1528-2361-ND 1 EA $8.95 $8.95 BOARD, MICROCONTROLLER, TRINKET MO

2 A2 QUALTEK QFWC-05-05 DIGIKEY Q1252-ND 1 EA $4.73 $4.73 CONVERTER, POWER, 120 VAC TO 5VDC USB, 1 AMP,
TYPE A FEMALE CONNECTOR

3 W2 QUALTEK 3025033-01 DIGIKEY Q968-ND 1 EA $2.70 $2.70 CABLE, USB, TYPE A MALE TO TYPE MICRO B MALE
CONNECTORS, 12 INCH, WIRED FOR DATA AND POWER

4 W1 HDX 145-017 HOME DEPOT SKU: 145017 1 EA $2.27 $2.27 CORD, EXTENSION, 120 VAC, 15A, 2-WIRE NO GND,
1.8 METER (6 FEET), WHITE

5 A3 ADAFRUIT 3942 DIGIKEY 1528-2711-ND 1 EA $3.95 $3.95 TRANSPONDER, ULTRASONIC, 40 KHz, 3 METER RANGE,
HC-SR04, 15 DEGREE, 5V, WITH 2 10KQ RESISTORS
(RA, RB)

6 2629 POLOLU CORP DIGIKEY 2183-2629-ND 15 FT $5.65 $2.83 WIRE, 26 AWG, Cu, STRANDED, PVC JACKET, WHITE,
50 FOOT SPOOL

7 QUALTEK Q5-3X-1/ DIGIKEY Q53X018B-ND 1 FT $1.53 $0.38 TUBING, HEAT SHRINK, 0.12 INCH DIAMETER, BLACK

8-01-QB48IN-25 4 FOOT LENGTH, 1 FOOT FROM PIECE
8 LUMBER 058449 HOME DEPOT SKU: 16164 1 EA $5.48 $5.48 BOARD, PINE, 2x4, 96 INCH LENGTH, PRIME WHITE

WOOD STUD, NO: TWISTS, BOWS OR KNOTS, CUT TO
LENGTHS REQUIRED

9 LUMBER 928919 HOME DEPOT SKU: 928919 1 CUT $25.26 $0.79 BOARD, PINE, 1x6, 8 FEET LENGTH, 0.75 INCH
THICK, SELECT, CUT TO 3 INCH LENGTH

10 ANY ANY TRUE VALUE ANY 6 EA $0.10 $0.60 SCREW, WOOD, #4, 0.5 INCH, PHILLIPS, TAPER HEAD
11 ANY ANY TRUE VALUE ANY 1 EA $0.20 $0.20 SCREW, WOOD, #8, 2 INCH, PHILLIPS, TAPER HEAD
12 ANY ANY TRUE VALUE ANY 6 EA $0.25 $1.50 SCREW, WOOD, #8, 2.5 INCH, PHILLIPS, TAPER HEAD
13 ANY ANY TRUE VALUE ANY 2 EA $0.35 $0.70 SCREW, WOOD, #8, 3 INCH, PHILLIPS, TAPER HEAD
14 NSI PNC-492W-50R HOME DEPOT SKU: 10029147 8 PC $4.52 $0.70 CLAMP, WIRE, ROMEX, WITH NAILS, 50 PACK
15 TITEBOND ULTIMATE IIT HOME DEPOT SKU: 639073 1 0z $7.98 $0.50 GLUE, CARPENTERS, HIGH STRENGTH, WATERPROOF,
473 ml (16 Oz)
16 ARROW MG24-4 HOME DEPOT SKU: 1003112860 3 SK $5.47 $0.68 GLUE, HOT, STICKS, FOR STANDARD GLUE GUN, 24
STICK PACK
17 CHIP QUICK RASWLF.020 107 DIGIKEY RASWLF.02010Z-ND 4 G $7.48 $1.07 SOLDER, ROSIN CORE, 24 AWG, Sn 96.5%/Ag 3%/
Cu 0.5%, 28g (1 0Oz) ROLL
18 XYAXIS 2020-07-0001-001 PAUL ROMSKY 2020-07-0001-001 SW $0.00 $0.00 SOFTWARE, SOURCE CODE, TRINKET MO, FOR CAR STOP
29 XYAXIS 2020-07-0002-001 PAUL ROMSKY 2020-07-0002-001 REF $0.00 $0.00 ASSEMBLY/SCHEMATIC/PARTS LIST, FOR TRINKET MO

CAR STOP (THIS DOCUMENT)

GRAND TOTAL $38.01 (USD)
UNITS OF MESURE (UM) :

AR = AS REQUIRED CUT = CUT EA = EACH
FT = FOOT G = GRAM 0Z = OUNCE
PC = PIECES PK = PACK REF = REFERENCE
RL = ROLL SK = STICK SP = SPOOL

SW = SOFTWARE

Copyright (c) Paul Romsky 2020-2021 All rights reserved



